
WOLFGANG ® USA LH (5107910885)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 1 of 4

Nov 8, 2012 - Rev. A

PARTS LAYOUT

1

2

3

3

4

98

5

6

10 11

10 12
13

20

2524

2625

27

2114 15 16 17 18

2928

29 30

32 33

32 33

17

29 31

34

34

23

19

7

35

http://www.fender.com/
http://www.evhgear.com/
http://www.fender.com/


WOLFGANG ® USA LH (5107910885)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 2 of 4

Nov 8, 2012 - Rev. A

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

1 BODY EVH WOLFGANG USA LH BLACK 9287910585
2 NECK EVH WOLFGANG USA LH MPL BLACK HS 9287910085
3 TUNERS GOTOH EVH 3+3 MINI CHROME/PEARL 0074271000
4 SCREW SMAB 3 X 3/8 PHP BLACK 9280530412
5 NUT FLOYD ROSE #2 CHROME 1.635”W 9280650129
6 STRING RETAINER SCHA CHROME 9280690115
7 SCREW SMAB 3 X 5/8 PHP CHROME 9280530119
8 SCREW SMA 10 X 1-3/4 OHP BLACK 9280530436
9 FERRULE NECK MOUNTING VB BLACK 0073938000
10 KNOB BLACK MXR DUNLOP 0076254000
11* CONTROL 500K LOW FRICTION EVH 0076252000
12* CONTROL 250K EVH HIGH FRICTION 0220836000
13* CAPACITOR MPF RDL .022µF 250V 10% 0024832000
14 JACK PHONE OPEN CIRCUIT 11 0021956049
15 WASHER FLAT 3/8 X .614 NI 0031153049
16 WASHER LOCK INTL 3/8 X .687 0016436049
17 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
18 JACK PLATE SQUARE CHROME 9280520614
19 SCREW SMAB 4 X 1/2 OHP NI 0015578049
20 BRIDGE FLOYD EVH LH CHROME 37MM 0077975030
21 EVH D-TUNA CHROME 9280660101
22 CLAW SPRING TENSION NI 0010272100
23 SPRING TREMOLO TENSION VINT 0031643049
24 BRIDGE PICKUP EVH WG 0076223000
25 SCREWS SMAB #2 X 1/2 RHP BLACK 0076293000
26 NECK PICKUP EVH WG 0076222000
27 3-WAY TOGGLE SWITCH CHROME W/BLK KNOB 9280420108
28 CONTROL CAVITY COVER WOLFGANG BLACK VINYL 9280590484
29 SCREW SMAB 2 X 1/2 FHP BLACK 9280530407
30 SWITCH CAVITY COVER WOLFGANG BLACK VINYL 9280590486
31 TREMOLO CAVITY COVER WOLFGANG BLACK VINYL 9280590485
32 STRAP BUTTON CHROME 9280630105
33 SCREW SMA 6 X 1-1/4 OHP CHROME 9280530223
34 BLACK FELT WASHERS 0994929000
35 EVH HI-PASS CAP 150pF 500V 5% 0092409000
* CASE EVH WOLFGANG W/BADGE LH 0078065031

NOT PICTURED IN DIAGRAM* =

http://www.fender.com/
http://www.evhgear.com/
http://www.fender.com/


WOLFGANG ® USA LH (5107910885)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 3 of 4

Nov 8, 2012 - Rev. A

WIRING ASSEMBLY

15
0p

F

RED (HOT) WIRE & BLACK (GROUND) 
WIRE TO OUTPUT JACK

MASTER
 TONE

CAPACITOR 
.022 µF

BRIDGE
PICKUP

SOLDER  GREEN & WHITE WIRE OF EACH PICKUP 
TOGETHER. FOLD BACK & SHRINK TUBE TOGETHER 

ALONG WITH CABLE FOR EACH PICKUP.

NECK
PICKUP

3 WAY PICKUP SELECTOR SWITCH
WRAP BARE WIRE AROUND BLACK WIRE FROM

EACH PICKUP AND SHRINK TUBE BOTH TOGETHER

GROUND WIRE
TO TREMOLO CLAW

GROUND
LUG

MASTER VOLUME

CAPACITOR 
150pF

http://www.fender.com/
http://www.evhgear.com/
http://www.fender.com/


WOLFGANG ® USA LH (5107910885)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 4 of 4

Nov 8, 2012 - Rev. A

SWITCH AND CONTROL FUNCTION

3 WAY SWITCH POSITION

3 WAY SWITCH

POSITION 

NECK PICKUP (A)

BRIDGE PICKUP (B)

1 2 3

PICKUP IS ON
OF 3 WAY SWITCH
INDICATES POSITION

1
PICKUP IS OFF

MASTER VOLUME

MASTER TONE

NECK PICKUP

3-WAY SWITCH

BRIDGE PICKUP

http://www.fender.com/
http://www.evhgear.com/
http://www.fender.com/

